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POPULATION STUDIES
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying

two (2) marks. Attempt all of them.

In which one of the following, dual report system is followed ?
(A) Sample Registration System (B) National Sample Surveys
(C) National Population Census (D) Civil Registration System

In India, the signature and/or thumb impression of the respondents was collected
during the census year :

(A) 1971 (B) 1981
(C) 1991 (D) 2001

In Indian census, enumeration of homeless population would normally be done :
(A) On the Night of Ist April (B) On the Night of 31st March
(C) On the Night of Ist March (D) On the Night of 28th February

Which one of the following is the major source of information on socio-economic aspects
of population during inter census period?

(A) Sample Registration Surveys (B) National Family Health Surveys
(C) National Sample Surveys (D) Demographic Surveys

Index of non-contraception (Cc) is part of whose model?
(A) Davis and Blake (B) Easterlin
(C) Bongaarts (D) Caldwell

For calculating General Fertilty Rate, the denominator is:
(A) Population 15-49 age group

B) Married women 15-49 age group

Unmarried women 15-49 age group

Total women 15-49 age group
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STHEAT 3T
U9 U — 11
A : T TS | e (50) 9g-fahedia ue ¥ 1 Ue U % & (2) 3ok &1 el el o I
IS
Frefafaa o § fraes fa w f5-g=e Jomel &1 STIm Sl © 2
(A) A S Sromedt (B) e oA Telerol
(C) TS SO (D) Tafeet dsfer yoredt

IRA H Jeaffai < gEaeR i/ S1e@ SHe- 21 S 9y § |ufed fohd T
(A) 1971 (B) 1981
Q) 1991 (D) 2001

AR SO § SR-foee e st et Sm=raan s St €
(A) 1 79 @t A A (B) 31 Hrd =t UfA =l
(C) 1 9=t i <l (D) 28 ®E{ it U

STRR-STUMT GH o SR SHEEAT & GiHTSTeh-271Tofes gl bl S & fog fefafed § 9
I THE BT © 2

(A) ST GSTE See (B) TSI URER TTeed Folaqol
(C) TSI A1 e (D) SHifsReE e

s FRyes g (St) ford wred 1 Wi 72
(A) 2fag iR = (B) s&eH
(C) drmest (D) Heedd

I IS S i M % fore e st S @ 72
A)  15-49 3 GHE i SHEEA

B) 15-49 3Tg e ! faanfeq fomat

C) 15-49 3Tg e ! Afaanfed forat

(
(
(
(D) 15-49 3T HYE * Fal foai
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10.

11.

In computing crude rates based on direct standardization procedure:
A) Effect of age distribution is compared
B

~—"

(
( Standardized age distribution is taken for all areas to be compared
(C) Both of them
(D) None of them

Prevalence is higher than incidence because:
A) Numerator includes only new cases in the reference period.

B) Numerator includes all new and old cases

~—

C) Denominator is lower

(
(
(
(D) Longer reference period

In Stationary Population, which one of the following is not correct ?

(A) Birth Rate = Death Rate

1
e0=—"
(B) ®  Birth Rate
(C) e°=2xIMR

(D) Birth Rate — Death Rate = Natural Growth Rate = 0

The pattern ASDR in developing countries is :
(A) S - Shape (B) ] - Shape
(C) Inverted U - Shape (D) U - Shape

Component method of population projection is called so because:
(A) Projection is done age-wise

(B) Components of population growth - fertility, mortality and migration - are projected
first.

(C) Projection is done for school going population, labour force and aged population
separately

(D) None of the above
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7. Y& AR fafy W eneia stenfud <0 o SO H ¢
(A) TR R 3 gl ot o Hi STl |

(B) T 1 faamor s @it i o qor % ferw fon s
(C) ST AT

(D) W | 9 & off &

~—

8. I ! SATIHAT I & AU | A &, HMh :

A) T Hefdd #e | e e AR 1 & e w ©
B) TV Y IR qRH |t AfiE whr enfaer s ©

C) i %I Hea w9 ©

D) Waf¥d It I ol BT

~—

(
(
(
(

9. frer e # frefafiad § 4 &9 @ @& 78 272
(A) S R=TgG X

1
EEk

(B) 5=

(C) S =2x 3E TH 3R
(D) 9 R — G X = AIehfcreh foh <=0

10. foemonia <o # Tod.dheam # usfa §
(A) TH - &R (B) S - 3HR

(C) 3HId g - 3R (D) 9 - &R

11.  SHSE &9 S Heesh fafy o1 59 99 | S S &, i
(A) TR Y F SER FoRaT S ©

(B) SHEA g  HEeH-USH, JJ X 3R Yo - T Y& Tl fohan S §
(C) THA WM At oA, Ak 91 SR J§ SHEA I 3Te- 3T F&qoT fha S &
(D) =g I &l
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12. In Life Table, T,, means:

Person years lived (life table population) before age 20 years.
Total person years lived at exact age 20 years.
Total person years lived at age 20 years and above.

Person years lived in age group 20-21 years.

13. Which one of the following assumptions is correct in estimating the singulate mean age
at marriage using Hajnal method ?

Fertility has been constant in the past
Pattern of mortality is constant
Marriage has remained constant in the past

Both fertility and mortality have remained constant in the past

14. Which one of the following is not correct in case of HIV / AIDS:

HIV / AIDS is curable
HIV / AIDS does not spread just by shaking hand

One can protect themselves from HIV / AIDS using condom everytime they have
sex

HIV / AIDS does not spread by eating together with persons having HIV / AIDS.

15. Which one of the following is not matched correctly

P.=P (1+r) - Arithmetic Growth Rate
P, =P " - Exponential Growth Rate
P Logisti

14 o - ogistic Growth Rate
P=P (1+1t) - Arithmetic Growth Rate
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12.

13.

14.

15.

e R, &, o1 T

(A) = o ad fan (S et Smeen) 20 o6 i o1 9 98
(B) 3tk 20 ¥ ki 3 W Fd ¥ 5 =aferd Sfifera @

(C) &9 (20) a4 iR o9 Afess =Afo & Sfifod ©H o Fa ad

(D) 20-21 98 e A Sfiford ©H o HoT a8

Freafafea & 9§ & 9 e o fafy o STaR W 9gell el &t 7Lz 3Ty & 10 &
forw @&t &

(A) YT H Yo TR @R
(B) g W H! Ugfa TRl W &
(C) et H foare womdt @1 €
(D) JdehTet § Yo iR g <X TRl @ ¥

T3 AT, /TeH & "l | frefafad § § s o we 78 g2

(A) THSTESN/TeE Tred I T

(B) Ta.3TE../TSH had a1l foe § & Shewdt

(C) T TN &% THI HUSH H1 TN T3 . /TSH | 991 Tohal ©
(D) TH.STE.H./TSH 3Heh W oh ©1e @l @ | T Sheran

frrefefaa & | o9 @ 7 T8t 78 § 2

(A) g = dy (14317 . o faeE

B) Ty = @, - e T R
*

Q) Wy = AR - A o &

(D) Wy = W (1+3RIA)-  7Iford forehrd <%
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16.

17.

18.

19.

20.

The denominator of maternal mortality ratio (MMR) is:
A) Total women in ages 15-49 years

B

~—"

Total married women in ages 15-49 years

C) Total number of live births

(
(
(
(

)

) None of the above

Which one of the following is not matched correctly ?
A) CDR : Based on total Population
B

~—

(
( IMR : Based on all the Pregnancies

(C) ASDR : Based on total population in specific age group
(

D) Maternal Mortality Rate : Based on total women age 15-49 years.

Which of the following six countries account for around one half of world population
growth?

(A) China, India, USA, UK, Brazil and Australia

(B) India, China, Sri Lanka, USA, UK and Nepal

(C) India, China, Pakistan, Nigeria, Bangladesh and Indonesia
(D) USA, UK, Nigeria, Ethiopia, South Africa, and India

Assertion (A) : Sex Ratio of 0-6 age group is declining in India.
Reason (R) :  Son preference has not yet vanished in India.
(A) Both (A) and (R) true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

During which decade the growth rate of population in India was the highest?
(A) 1921 - 31 (B) 1951 - 61
(C) 191 -71 (D) 1991 - 2001

J—1507 8
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16.

17.

18.

19.

20.

HG-Te] T AT (TH.TH.AR.) % =l hl e 8?2
(A) 15-49 37 e H Fal fo

(B) 15-49 311g sl el forenfed T

(C) e =1 ol Hel

(D) STH § 9 FIE &l

frefafed 5 9 =@ @ Siren faom g2

(A) LR — P SHEE W A

(B) E.TH.AR —  [off TviEET W eEia

(C) TUHELIR —  fafere Ag-w9E i o SHEEA 99
(D) HE-Tg X —  15-49 IY-GHE I o Tl 7 eafa

GET IT ON
Google Play

frafefaa & @ oF ¥ ©: <9 € S fava Fi e enef SHEE 9 se & fou e §?

A) =M, vRd, SR, %, Jsia IR Afamn

B) R, =, dicieh, sTHRE, g IR a1

C) W, <, WIfhEa™, ST, STen <3 3R SeHfemen
D) SRR, 9.%., TS, geiftan, afaor stftpen s wrd

~—

(
(
(
(

ARTHT (A) :  9RA H 0-6 g T | ATk 31U R w1 7
qh (R) : IRA B TTeh i MefHehar 1+t Tor = ¥
A) (A) 3R (R) IH T2 ¥ 3R (A) T (R) T TILHT € |
(A) 3R (R) SHI & € 7R (A) T (R) TE TILHT 7 T |
C) (A) W&l € WR (R) T g

B

~—

(
(
(
(D) (A) 7o € AR (R) §& 1

frefafead § 9 fhd < o v &t SHEe o & 9 96 ?

(A) 1921 - 31 (B) 1951 - 61
(C) 1961 - 71 (D) 1991 - 2001
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21.

22,

23.

24.

Which one of the following States has the highest decadal growth rate of population
during 1991 - 2001.

(A) Rajasthan (B) Uttar Pradesh
(C) Bihar (D) Madhya Pradesh

Which one of the following has the highest percent of aged population in India during
2001 census?

(A) Maharashtra (B) Tamil Nadu
(C) Kerala (D) Punjab

Based on the census of India - 2001, which one of the following combinations is in the
correct descending order according to literacy rate ?

(A) Maharashtra, Kerala, Gujarat, and Tamil Nadu
(B
(
(

~—~

Kerala, Maharashtra, Tamil Nadu and Gujarat
C) Kerala, Maharashtra, Gujarat and Tamil Nadu

D) Tamil Nadu, Kerala, Maharashtra and Gujarat

This consists of two lists of statements, terms or symbols and the student has to match
an item in one list with an item in another.

List - I List - II
(a) Highest density (i) Punjab
(b) Lowest sex ratio (F/M) (i) Rajasthan
(c) Higher Literacy Rate (iii) West Bengal
(d) Lowest Female age at marriage (iv) Kerala

(A) @) @) @) @Gv)
(B) Gv) (@) @) ()

(© @) @ (@v) (i)
(D) @) (v) @) ()

J—1507 10
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21.

22.

23.

24.

frfafag v ° 9 59 T3 § 1991 - 2001 H SEEA <9h- I T gatodn W ot ?
(A)  TSTEIH (B) W YN
(C) femr (D) A He

Frefafed &0 § 9@ % 91 159 © fS9et 2001 S0FT & SR 9@ i SEe IR § 969
Afen 872

IRA T SO - 2001 % SR hiA A1 TY= &A1 R o STTHR 3TaE! o8 H T2 72
(A) HENIS, e, o SR diferrg
(B) %, HENIZ, TfHCTTE i TS
(C) %, HEWg, TS SR dAIHerg
(D) TfHeRTE, e, Hemrg SR R

T 1 (/RA) o1 el 11 (Ueiteh) | forem sifs

e -1 T - 11
(a) Har=A oA (i) S
(b) e ifiTeh Srgur (/i) (i) oM
(c) ST HI&AT (iti) afe=Et S
(d) wit foare st e ey (iv)

J—1507 11 P.T.O.
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25.

26.

27.

28.

29.

On the basis of place of birth information, persons are classified as migrants if:
(A) The place of enumeration is the same

(B) The place of enumeration is different

(C) The place of enumeration is urban area

(D) The place of enumeration is rural area

Assertion (A) : Urban population growth in India has been very rapid after
independence.

Reason (R) :  Economic and social structure of urban centres developed significantly
in independent India.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true but (R) is not correct explanation of (A).
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Which one of the following is the utmost important factor in making decision to migrate?
(A) Factors at origin (B) Factors at destination

(C) Intervening obstacles (D) Personal factors

According to 2001 census, what is the percent of urban population in India?
(A) 26.8 (B) 27.8

(C) 28.8 (D) 29.8

Which one of the following major Indian States has the highest percent of urban
population during 2001 census ?

(A) Tamil Nadu (B) Maharashtra

(C) Karnataka (D) Gujarat

J—1507 12
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25.

26.

27.

28.

29.

ST h G W & SMUR R, A1 1 Jardt i 4oit § T s g, 9t
(A) T T T off e 2

(B)  TTUMI %1 T 1§ 31T 2 |

(C)  TTUFT <l T T & & |

(D)  TOTT ST T TTHTOT &7 2 |

MUY (A) : TIARR 9RG H TR ! SHEEAT 9gd & el 7Ifd | 57 |

e (R) : A IR | TR Fgl 1 A T et e fafme w9 9 fawfad
B

(A) (A) 3R (R) ST Tl € 3R (A) T (R) HE TR T |
(B) (A) 3R (R) IHI T € R (A) 1 (R) eI TR T 2 |
(C) (A) 5l § ¥R (R) 7TeTd T |

(D) (A) 7T § WR (R) Tl T

frefafaa § @ yarg gt fofg on & fau sTcmesees R b 91 82
(A) T TIH R AT FHROT (B) T<Ied T % HRYI

(C) = =t TR (D) Tosit shro
2001 SFIUMT % STTER YR H R SHEE shi fasradl 91 82
(A) 268 (B) 27.8

(C) 288 (D) 29.8

frefafaa T=ai § | 2001 St SHOAT o TR 78 o0 ol TR-SHHEEA i Fai= gfaerdan

J—1507 13 P.T.O.
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30.

31.

32.

33.

Which one of the following is the correct sequence according to their share of urban
population in India’s total urban population.

(A) Tamil Nadu, Maharashtra, West Bengal and Uttar Pradesh
(B) Maharashtra, Uttar Pradesh, Tamil Nadu and West Bengal
(C) Tamil Nadu, Maharashtra, Uttar Pradesh and West Bengal
(

D) Maharashtra, Tamil Nadu, West Bengal and Uttar Pradesh

This consists of two lists statements, terms or symbols and the student has to match an
item in one list with an item in another.

List - I List - II
(a) Theory of change and response (i) Easterlin
(b) Theory of quality and quantity trade off (i) Bongaarts
(c)  Socio - economic theory of fertility (iii) Davis
(d) Proximate determinants of fertility (iv) Liebenstein
Codes:

(@ (b)) () (@
(A) @) @v) @O (@)
B) @ @ 3§ (iv)
(© @ @) @) @
(D) (@v) (@) @) (i)

Which one of the following is not a positive check on population according to Malthus?
(A) HIV / AIDS (B) Tsunami

(C) Prostitution (D) Poverty

Which one of the following countries is generally cited as the best example for
international migration?

(A) Australia (B) Israel

(C) United States (D) Sri Lanka

J—1507 14
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30.

31.

32.

33.

frafafeaa & & oF @1 T9%T 8 ¢ fSeH IRa 5 o TR SHEe | T & R 61 g9
TNE?

(A) TIHETE, Hewe, qfved S 3iR S|y
(B) WRNIE, W Ye¥, AHeTg iR afe=dt sma
(C) THEHE, HeRTE, ST Uey iR ufeem e
(D)WW, qHerrg, afeaHl simel SiN ST qe

T - 1A - 11 e i

-1 -1I
(a) URERH IR TR 1 fagr () =t
(b) TIoTEE SR fd H s fagm (i) @med
(c) S o1 | STifdies fagT= (i) faw
(d) YS * wHE Fuies o= (iv) feremfeed

)

Houg & ER fefafead § § sEen & fau wiF a1 gwrcs s 7= €2
(A) THIRH/TH (B) g
(C) aeIEfd (D) faedan

Frafafaa § 9 =9 @1 29 § 9 </ yo™ & fau gaiad Seer & &9 | 7&qa foan
AT ?

(A)  stieferan (B) 3ZSHIEA
(C) 3THf@ER (D) 4t deht

J—1507 15 P.T.O.
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34.

35.
36.

37.

38.

Arrange the following countries according to their rank of human development index
in descending order.

(A) Pakistan, India, Bhutan and Sri Lanka
(B
(
(

India, Sri Lanka, Pakistan and Bhutan

~—

C) Sri Lanka, India, Bhutan and Pakistan
D) Bhutan, Pakistan, India and Sri Lanka

According to PFI, which one of the following major States has the least position in
terms of human development index?

A) Uttar Pradesh B) Madhya Pradesh
y
(C) Bihar (D) Rajsthan

Which one of the following is the most important contributor for air pollution in Mega
Cities?

(A) Industries (B) Vehicular Traffic

(C) Sewage (D) Garbage burning

Assertion (A) : Age at marriage of females is steadily increasing in India.
Reason (R) : Large number of females are pursuing higher education in India.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : High value is placed on chastity in India
Reason (R) :  Prevalence of HIV / AIDS is low in India

A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(C) (A) is true but (R) is false.

(

D) (A) is false but (R) is true.
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34.

35.

36.

37.

38.

frAfafea < #1376 Oe fasE o wafe | oS &% o ER, STald %Y U, HUdS
Hif

(A) UIFREIM, 9, e IR dicish
(B) W, Hicichl, Wfehea iR yed
(C) icient, IRA, M IR Wifehear
(D) Y2F, WIfh&dM, 9RA 7R dicisht

.U, 378, & A7UR Fefafed yoE T § 9§ &F 91 T 9 9Rd § 999 fasm & feam
TWR?

(A) SIS (B) WA W
(C) T=R (D) TSTEH

Frefafed # 9 TermmRl # a1y gguw % foaw & 1 Sid ga s1fys far 22
(A) =M (B) @& AT
(C) AdrafEaTd (D) &S Hl ST

AR (A) :  9RA | TTeforal o foamg &t oy # -+ gfg 2 @ 7
& (R) : IRd B forar it fiedt & s e o s = ©

(A) (A) 3R (R) S T T 3R (A) F1 (R) T TR T |

(B) (A) 3R (R) M Wl § TR (A) &1 (R) TEI TTEHT T 2 |

() (A) U@ T FR (R) e g |

(D) (A) TTeTd § WR (R) W& B

AMRIT (A) :  9RG | Ufosrar ol S T fean San g1

T (R) : IRA B T, 3T, 5. / TS 1 Johid T 7|

(A) (A) 3R (R) ST W&t § 311 (A) 1 (R) TR TR B |
(B) (A) 3R (R) M W&l § WR (A) &1 (R) TeI TSR T 2 |
(CQ) (A) H& € AR (R) T B |

(D) (A) 7o § AR (R) W&l 2|
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39.

40.

41.

42,

43.

44.

Assertion (A) : Family size is decreasing in India

Reason (R) :  Large number of females are getting empowered in India.
(A) Both (A) and (R) are true but (R) is the correct explanation of (A).
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

One of the important components of National Population Policy, 2000 is :
(A) Achieving TFR = 2.1 by 2020.

B) Achieving TFR = 2.5 by 2010

Achieving TFR = 1.8 by 2010

Achieving TFR = 2.1 by 2010.

The Medical Termination of Pregnancy Act was passed in the year:
(A) 1994 (B) 1972
(C) 1962 (D) 1982

Major Shift in our Family Welfare Programme under RCH was:

(A) RTI/STI services were integrated with primary health care.

(B) Programme became more target oriented.
(C) Focus on fertility control became stronger.
(D) Mother’s health was completely left out.

According to NPP 2000, stable population would be achieved by the year :
(A) 2060 A.D. (B) 2045 A.D.
(C) 2020 A.D. (D) 2040 A.D.

Which one of the following can be put under fertility influencing policy ?
(A) Land reform, Child labour ban and Female age at marriage

B) Female age at marriage, Promotion of contraceptive use and abortion
Improving child survival, Sanitation and Safe drinking water

)
D) Improving transport, Health facility and Service outreach

J—1507 18


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

39.

40.

41.

42.

43.

44.

ARTHAT (A) :  9RA H URAR T TR FH & @ |

T (R) : IRd B Foai o1 weiferenr foman < @1 7

(A) (A) 3R (R) ST T € 2R (A) 1 (R) T TR T |
(B) (A) 3R (R) S Wl & WR (A) T (R) eI TR T 2 |
() (A) ¥ € AR (R) oW ¢ |

(D) (A) T § AR (R) §& |

TI S Hifd 2000 1 T TG 9 © :
A) ATEAT =21 2020 Tk I HE

(
(B) CTEAR =25 2010 Tk Y HEAT
(
(

C) A TEAR =1.8 2010 Tk Y< HET

D) JUERSAR =2.1 2010 d U< HEA
nfeswa M Afufem frg ad @ik gam?

(A) 1994 (B) 1972
(C) 1962 (D) 1982

SR TH. &% ST URER HedTol hieishH | shi-el G IRed 3T § 2

(A) SARZLSTE. /TH.2.3TE. Harst ol MefHer Weed hal o 91 Thigd fohal T
(B) sy 3iR sifereh wteigEl 2 T

(C) IS o301 T HIRE TER Bl T

(D) I T <h1 qoicrn i feam e

T, 2000 < TTER fhg a9 Tk SHEE § feerar o1 areft ?
(A) 2060 et (B) 2045 T
(C) 2020 gHet (D) 2040 3t

Frefafag & 9 frget uom gumt ifq & Faia war s e €2
(A) 1 GUR, 11 99 Et IR f9ams o 99 i @ ey

(B) faare & wma St &t o1y, 1o A R Mfura i dieared
(C) o=l ! Shifod WA | GoR, TR IR e o
(

)
) UREed H GuR, e YAt SR Gl 6t umEi | € Suersd oA
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45. In Sixth and Seventh Five - Year Plans, India’s Population Policy goal was in terms of:

(A) CBR (B) GFR

(©) NRR (D) GMEFR

Read the following Paragraph carefully and answer the questions no. 46 to 50.

In both developing and developed countries, a combination of population growth
and consumption patterns contributes to pressure on the natural environment. Key
factors include unsustainable consumption and production patterns; poverty; social
and gender inequalities; unsustainable use of natural resources; and population growth,
structure, and distribution. In many countries, consumption and production patterns
are the primary factor: as demand increases, so does land-clearing and mining, which
leads to the destruction of forest and habitats of indigenous peoples, the degradation of
land and water, and the reduction of biodiversity. In numerous developing countries,
high population growth resulting from unmet need for contraceptives exacerbates
environmental degradation, especially in vulnerable ecosystems. Worldwide, unplanned
pregnancies contribute twice as much to future population growth as desired

pregnancies.

46. High population growth in many developing countries is because :
A) Contraceptive use is high

B

~—

(

( Unmet need for contraception is high
(C) Mortality is very high
(

D) Family Planning Programme is successful

47. Which one of the following contributes more to future population growth?
(A) Desired Pregnancies (B) Unwanted Pregnancies

(C) More aged population (D) None of the above
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45. YA &I DI SR Gae Gaeig ARl # SEEn Hifd o de 39 e H off
(A) HseAR (B) SI.UH.3AR

(C) THIRIAR (D) SiL.TH.TH.3R

Frfefea UrTs Rt &I | ufeu 3fX U9 WEAT 46 W 50 Aok oh ST SN |

forenraetiat 3R faeshfad-<Mi UehR o <31 H SHEA &l gfg T SUHRT Yfawmi &l 9q=

YIpfaeh TAteRe R TEE el 1 $Hh Y& HRUT H AFed 3T iR e ufeH,
Fosfre, HTITT T ST SR, W S B SR e, S # gfs, s
e ue faaver afmfad €1 &g <9l | ST iR Scured §e SRur ¥ 1 it S sl A
It & i i 4T 1 | foman S € ofR TR fshan st St €1 59d ai iR St @ &
Yrehfcrek o <A1 fomren 2 ® TR yfft qen St o1 o1 Bt § 1 39 Sifare fafiwerar § of s
At &1 3T forehrereiier el # yi-farereni T | ol GU 7 T ok HRO SHEEA H S g
TITeRYT o B I IS At 7 | Ferden e Siferss wgfoa #1 fova A wret sEEn # 9
T srffeIa e sfesa Taieml 6t 3TdeT AT AREH STeld € |

46. 3 Toreial <O H 3oF SHEE &l gig &1 HRUT T
(A) 7o et w1 T eI ©
(B) o FRIYHT T T I T E H A T
(C) TG T AGT TR &
(D) @R e wrwT 9% §

47. TrAfafEa B § HF @1 el SHEE # 9fg | e 9 d 2
(A) e TaigE (B) 3M-3fwad wiyM
(Q) SR g SHE (D) ST § 9 HIE &l
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48.

49.

50.

What contributes more pressure on natural resources ?
(A) Population growth alone (B) Consumption pattern alone

(C) Combination of (A) and (B) (D) Poverty
Degradation of land and water is because:
(A) Indigenous people do not care ~ (B) Land clearing and mining

(C) Earth is ageing (D) None of the above

The tone of the passage can best be described as:

(A) Analytical and optimistic (B) Biased and unprofessional
(C) Critical and discouraging (D) Descriptive and Conclusive
-00o0-
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48.

49.

50.

frfefad o @ ki Hidl W fhEe Ted SRl g usdl 8 2

(A) HIA STHEAT H hg (B) <had IUHNT TGl

(C) (A) 3R (B) 1 9= (D) faean

i 3R 7 1 FH AL T :

(A) <Rt Al waTe &l Hd (B)  f o WIH AT IR T T
(C) TR AT T (D) SWad ¥ § &g T

TH G & 9IE bl FadH &7 U 39 YR Fer fohan S Tehll ©

(A) ToeToTe® Ta SRS (B) Ul Tsl STeHeErRT
(C) A= Ta ISR (D) foeroneTe: wa e
-00o0-
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Space For Rough Work
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